PAY LIMIT = 201-10"————
7 66'-5" PIER 1 : ;i 69' PIER 2—
23-113" 19'-10" 17-113" 19-113"
55" (TYP)}—' 2 3| 3, C % 3
— i 8 f— E—-——-—‘ 1 g——v-ﬂ-ﬂ
o T THENT i i - i i1 i i i I i I i
8 o] NORTH WALL FACING NORTH, SOUTH WALL SIMILAR -
%= (TYP) 5'-11%" 27 SPACES @ 6-7" = 177'-9"
1 66'-5" PIER 3
e 3 18'-53" 20" a 19'-6" = 23'-6"
Ol . V |- e e |
£ = 8 3 T 3 lime T 5 3 8 T = s 8 = = £ = E%SWTTIENT
] | I I | TT | ] 11 I I ] 11 1
T 1T T —
BREAKLINE Vermont Agency of Transportation 511 % | e —
RECEIVED BILL OF MATERIAL
CUATED BLACK = ASTM D/3803  oN pecember 29. 2014 |mew o] arv | eaer s
)
i 60 0033.90402 |TWO RAIL POST & BASE PLATE ASSEMBLY AS72 Gr. S50, AS00 Gr. B
and CheCked fOI' 2 2 003391331 |4 X 3" X 1/4" RAIL @ 23'-11 1/2" W/ END PLATES AS00 Gr, B
CON FO RMAN‘ E 3 2 003391332 |4 X 3" X 1/4" RAIL @ 19'-10" AS00 Gr. B
4 2 003391333 |4 X 3" X 1/4" RAIL e 17'-11 1/2° AS00 Gr. B
TAS DATE: 01/20/2015 S 2 |003391334 |4” X 3° X 1/4" RAIL @ 19'-11 1/2” AS00 Gr. B
s /g 13* THREADED STUD 6 2 003391335 |4 X 3 X 1/4" RAIL @ 27'-0" AS00 Gr. B
% g 7 2 003391336 (4" X 3" X 1/4" RAIL @ 18-5 1/4" AS00 Gr. B
i W/ (2 HEAVY HEX NUTS, - . . -
ANCHOR PLATES g}é. TYP —85"— ¢1> PLAIN HARDENED WASHER, 8 2 003391337 |[4* X 3" X 1/4" RAIL @ 20'-0 AS00 Gr. B
[ 7 (17 LOCK WASHER 9 2 003391338 |[4* X 3" X 1/4" RAIL @ 19'-6" AS00 Gr. B
$ _é_ — —" 10 2 003391339 (4" X 3" X 1/4" RAIL @ 23'-6" W/ END PLATES AS00 Gr. B
2l" 11 2 003391340 |2* X 2 X 1/8" RAIL e 23'-11 1/2" W/ END PLATES AS00 Gr. B
16 | |
_”_a¢ _I — 12 2 0033.91341 |2° X 2° X 1/8" RAIL @ 19'-10" AS00 Gr. B
6" -—43‘— 13 2 0033.91342 |2 X 2" X 1/8" RAIL @ 17'-11 1/2* AS00 Gr. B
-16‘ 1_1_0_ 0\\_2)13" 14 2 003391343 |2* X 2" X 1/8" RAIL @ 19'-11 1/2" AS00 Gr. B
- aie 6 (4%) w 15 2 | 003391344 2" X 2° X 1/8° RAIL @ 27'-0" AS00 Gr. B
—H - RS 2} 1 F " 7 16 2 1003391345 2 X 2° X 1/8" RAIL @ 18'-5 1/4° AS00 Gr, B
t ! l o 10 g 17 2 003391346 |2* X 2° X 1/8" RAIL @ 20'-0" AS00 Gr. B
1&—' I TO 2 3 o 18 2 003391347 2" X 2" X 1/8" RAIL @ 19'-6" AS00 Gr. B
s§ MR Typ 19 2 0033.91348 [2° X 2 X 1/8” RAIL @ 23'-6" W/ END PLATES AS00 Gr. B
?a__ i ANCHORAGE DETAIL 20 12 0033.90405 |1-1/2* X 1-1/2" FIX. SPL BAR B 2' 4" AS72 Gr, 50
§’ Fabreeka Pad 21 12 |0033.90406 [2-1/4” X 3-1/4" FIX. SPL. BAR @ 2’ 4’ A572 Gr. 50
o 22 4 0033.90407 |[1-1/2" X 1-1/2" EXP. SPL BAR @ 1" 5" AS72 Gr. S50
23 4 003390408 |2-1/4" X 3-1/4" EXP. SPL, BAR @ |’ 5* AS72 Gr, S0
8%"— aé. — 24 120 0033.00295 |3/8" X 2 1/4" X 7 3/8" ANCHOR PLATES A36
T —‘ | '_]— 29 242% | 004205813 |[@ 5/8" X 13* ANCHOR STUDS A449
616 _.g‘ 3%: 26 482% 0080.15901 |@ 5/8° HEAVY HEX NUTS ADH3
5l ] WPS 3006 27 240 | 0080.15911 |[# 5/8" FLAT WASHERS F436
_3.? _l - 28 240 | 008015920 [¢ 5/8° LOCK WASHERS ASME_D18.2
16l = 17— '—"— 29 60 0080,05565 @ 5/8" X 7 1/2° SLOTTED, ROUND HEAD BOLT, NU
%6 | 1 13, . I% 30 60 | 0080.05585 [¢ 5/8° X 8 1/2” SLOTTED, ROUND HEAD BOLT, NU T.Y. LIN INTERNATIONAL
] 13, J_’_ é)’@m (4x) Waldled! o, 470" Tike 3l 64 | 008003103 |# 3/8° X 3’ HEX BOLT, NUT, F.W., & LW, THE STAMPED DOCUMENTS ARE HEREBY:
316 11" 32 64 0080,07330 [ 778" X 5 1/2" HEX BOLT, NUT, F.W., & LW. APPROVED
wel :. " ] PAD X APPROVED AS NOTED
10" 6 13- # —- 7 33 60 0033.90068 |1/8" ELASTOMERIC 2
81"116 | § i ! I_[g % WPS 3006 34 2 | 0033.90403 |APPROACH WALL CONNECTORS ——— NEVISEANDRESUENIT
'2 "‘--.._Q}__:é» (2x) - H 174 35 2 0033,90404 |TRAILING WALL CONNECTORS SEE TRANSMITTAL FOR ADDITIONAL INFORMATION AS APPLICABLE.
L9/ I+ 13 B O RAIL RETALL 3¢ 14 -~ [DELINEATORS (SUPPLIED BY PR LoPAYETTE) ki eview 1 FOf CoNERAL COM ORVANCE 1] bES O
\Ra" Welded to 2'x2" Tub " SPECIFICATIONS NOT CLEARLY NOTED BY THE CONTRACTOR HAS
HSS 4'x4"x5/16* CENTERE. 4 goe e yhe 5/8 NOT BEEN REVIEWED. REVIEW BY THE ENGINEER SHALL NOT RELIEVE
s/e o BhSE:LM'E 3 I HARDWARE THE CONTRACTOR OF THE CONTRACTUAL RESPONSIBILITY FOR ANY
/16"x3-5/8"°%3-5/8" CAP- o T 1 = ITEM # FIJERRORS OR DEVIATION FROM THE CONTRACT REQUIREMENTS.
At \ 3. 4 18 FRONT |\ \oRk AND MATERIALS SHALL conrors To sbcTion : 29 [BOLT BOTTOM RAIL TO POST
T [4 ﬁ WALL ONLY 2. PRIOR TO GALVANIZING THE asrfgm;%nﬁ gggg, RIND m_l. EDGES TO A MINIMUM RADIUS OF 1/16% 30  |BOLT TOP RAIL TO POST (I RICK HEBERT 1/16/2015
| - 3, ALL POSTS SHALL BE SET NORMAL
¢ ol 1_% 4, SECTIONS OF RAIL TUBE SHALL BE ATTACHED TO A MINIMUM OF TWO BRIDGE POSTS AND PREFERABLY TO AT LEAST 4 POSTS, 3L [BOLT BOTTOM SPLICE BARS S .
I | &%T X | S, HOLES IN RAILS FOR TUBE ATTACHMENT, WML BE SHOP-DRILLED. HOLES SHALL BE COATED WITH AN APPROVED ZINC-RICH 32 |BOLT TOP SPLICE BARS TO TOP RAIC J 7 3
PAINT PRIOR TO INSTALLATION. 5
HSS 4'xa'xl/4'——| I 9" ®0 l: : 6. BOLTS SHALL BE TORGUED SNUG TIGHT ROXIMATELY 100 FT-LBD. ITEM #: 525.45 | SHEET 1 OF
I | I | 7. mg FL%IE:E% FSHTﬂEL TII!.IEBE ?TTACHED USING*FULL DIAMETER BODY ASTM A449 (TYPE I> ROUND HEAD BOLTS INSERTED THROUGH STRUCTURAL STEEL TO BRIDGE RA IL DET A ILS SHEET
1'-4E" HES 2atxl/e—] 1-6" | 1 8, SEE STANDARD DRAWING G-I FOR DETAILS OF DELINEATORS. & DELINEATOR SHALL BE INSTALLED AT 30 FOOT SPACING OR COMPLY W/ ASTM A6 VT 121 (CL 2, TH 1) RURAL MAJOR COLLECTOR, BRIDGE 11R
16 THE NEAREST POST. WHITE IS TO BE INSTALLED ON THE DRIVER'S RIGHT, FOR ONE WAY BRIDGES, YELLOW IS TO BE ] -
+#+ — |Q3| INSTALLED OM THE DRIVER'S LEFT, PAYMENT FOR DELINEATORS SHALL BE INCIDENTAL Tull-gT:ligﬁEI}.gngl"ECIFlED Gt ROCKINGHAM, PROJECT BRF 0126(12), TOWN OF ROCKINGHAM, WINDHAM COUNTY, VT.
. THETIC TREATMENT TYPE SHALL BE APPLIED AS SPECIFIED IN THE CONTRACT PLANS. .
- 3 . > RGT BE USED. AESTHETIC TREATMENT DETAILED ON THIS SHEET MAY ALSD BE APPLIED ON THE FASCIA SIDE OF THe RalL, | LOLERANCE UNLESS RiNQ. | DATE  DESCRIPTION I e e
wesaooz . ||| 7 I IF SPECIFIED IN THE CONTRACT PLANS. OTHERWISE NOTED:
e | | | | 10. BRIDGE RAILING SHALL HAVE A RUBBED FINISH IN ACCORDANCE WITH SECTION S0L FRACTIONS = + 1/18" |V v
, I - T 1l. THIS RAILING MEETS THE REGUIREMENTS FOR A NCHRP REPORT 350 TL-4 SERVICE LEVEL. ) DRAWN EF. e
12, HOLES FOR MOUNTING DELINEATORS TO BE FIELD DRILLED. HOLES SHALL BE COATED WITH AN APPROVED ZINC-RICH PAINT ANGLES = + 1/2 i 5&%@@{%} CHECKED T BL TE e
30 == PRIOR TO INSTALLATION, DIAMETERS = # 1/32” ELDERLFEE,INC. [Nl oL
4 " \{usmuamc PaD 13, ALL STEEL COMPONENTS EXCEPT HARDWARE AND ANCHORAGE CAST IN CONCRETE SHALL BE COATED BLACK IN ACCORDANCE = ¥ 04KS CORNERS. NEW YORK 145 APPROVED | . .
WITH ASTM D7803 FOLLOWING GALVANIZING. Pl d SCALE | SCHEMATIC
E Hgﬂ.%@etdfﬂee.com / epfek@e_we:t;e.com DRAWING NO. FR L - ROCKINGHAM




?15/16” THRU TUBE & SPLICE BAR,

@7/8"XS 1/2° HEX BOLT & NUT,

W/ (1> PLAIN HARDENED WASHER &
(1> LOCK WASHER (4 PLACES

TOP RAIL FIXED SPLICE DETAIL

Co P gt === — 1
5" %.._ 3 P 1;.. ’
i _gll = 2Z o
0m 0m 0m I ama
— —'II_:_: | = rofiior il :|E:_:_T.___ e e e, :E:_:_:_:E_':-_.I_Il_ T l - N T
e | | | 4|| 31"
B _-—::[%f]::ﬁl ;_ﬁ —_B_EI L I__“_ _;4 45° TYP
" " In " "% i i
9 A 4 4 0
1 '_2" 1 |_2"

$15/16°
@7/8"XS 1/27

THRU TUBE &

SPLICE BAR:
HEX BOLT & NUT,

W/ (1> PLAIN HARDENED WASHER
& (1) LOCK WASHER <4 PLACES)

TOP RAIL EXPANSION
SPLICE DETAIL

/—HSS x3x1/4*

_'|::

P

1/74"x43° TYP.

A

>N

#1/2* THRU TUBE & SPLICE BAR;
$3/8"X3” HEX BOLT & NUT,

W/ (1> PLAIN HARDENED WASHER &
(1> LOCK WASHER <4 PLACES)

1 !“2"

1/4"%x43° TYP.

1/8""

D3/ BYR3"

THRU TUBE & SPLICE BAR,
HEX BOLT & NUT,
(1> PLAIN HARDENED WASHER &

(1> LOCK WASHER (4 PLACES)

BOTTOM RAIL EXPANSION

SPLICE DETAIL

1/4"x43° TYP,

T.Y. LIN INTERNATIONAL

THE STAMPED DOCUMENTS ARE HEREBY:

APPROVED
X__ APPROVED AS NOTED
REVISE AND RESUBMIT

SEE TRANSMITTAL FOR ADDITIONAL INFORMATION AS APPLICABLE.
THIS REVIEW IS FOR GENERAL CONFORMANCE WITH DESIGN

CONCEPT ONLY. ANY DEVIATION FROM THE PLANS OR
SPECIFICATIONS NOT CLEARLY NOTED BY THE CONTRACTOR HAS

NOT BEEN REVIEWED. REVIEW BY THE ENGINEER SHALL NOT RELIEVE
THE CONTRACTOR OF THE CONTRACTUAL RESPONSIBILITY FOR ANY

ERRORS OR DEVIATION FROM THE CONTRACT REQUIREMENTS.

RICK HEBERT 1/16/2015
EEEEEEEE DATE

Vermont Agency of Transportation

RECEIVED

ON: December 29, 2014

and Checked for

CON FORMANCE

TAS DATE: 01/20/2015

Provide 15/16" x 2" slotted holes in top rall
splice bar and 1/2" x 1 1/2" slotted holes in
bottom rail splice bars to accommodate

movements at expansion rail splices. (Typ)

ITEM #: 525.45

| sHEET 2 0F 3

STRUCTURAL STEEL TO
COMPLY W/ ASTM A6

BRIDGE RAIL DETAILS SHEET

VT 121 (CL 2, TH 1) RURAL MAJOR COLLECTOR, BRIDGE 11R
ROCKINGHAM, PROJECT BRF 0126(12), TOWN OF ROCKINGHAM, WINDHAM COUNTY, VT,

TOLERANCE UNLESS

DATE

DESCRIPTION BY| R |[NO.| DATE

DESCRIPTION BY|

OTHERWISE NOTED:

- |[< M 0

FRACTIONS = = 1/16"

ANGLES = £ 1/2°
DIAMETERS = + 1/32"

T

' ELDERLEE,INC.

&/ OAKS CORNERS, NEW YORK 146 3

E-Mail: dlong®elderlee.com / epeek®elderlee.com SCALE
el: 3157896670 Faz:315-789-6615

15—

DRAWN

12/19/14

RICATOR|| CHECKED

12/19/14

APPROVED | .

DRAWING N

D.FR L - ROCKINGHAM




BILL OF MATERIALS
ITEM #|QTY DESCRIPTION ASTM #
1 1 DBL TUBE WwALL PLATE - 1 X 10" x 25* ASTM AS72 Gr. S0
2 10 RAW, ©5/8" REBAR @ 367 A615, Gr. 60
3 2 9" X 9 X 5/16" TUBE W/ SLOTS € 18* ASTM AS00 Gr. B
4 e SHIM PL 1/2" X 47 X 17" W/ SLOTS ASTM A36(ASTM A709 Gr., 36
S 2 SHIM PL 1/2* X 4" X 17* (Ww/0 SLOTS ASTM A36(ASTM A709 Gr. 36
2 TYP;
WPS 3016
TYP.
WPS 3019 /-m” x 4" SLOT, TOP
A A T I T T A TR, —& BOTTOM i PROTRUSIONS CAUSED BY WELDING OR
WELD "R"— GALVANIZING ARE NOT PERMITTED ON THE
A A A A A T SPLICE TUBES AND FILL PLATES
3
24

“RIGHT / APPROACH”

N\ WPS 3037

174" |/ 2-7

TYP
X

B j .
1 1n 2
- —”3/4 ‘x45°~"] 3" |~ [14 |7
2X{REF) 7 rl |
+'q} + T 1.
& T 1"
4 = o+ o+ —4'—
4——3" oy
| | | 21"
it REF.
1-55
N |
v ande
1105
. n
ALV, HOLE”]
2X (REF)
10" CITEM # 32>

1" G

BILL OF MATERIALS
ITEM #|QTY DESCRIPTION ASTM #
1 1 DBL TUBE WALL PLATE - 1* X x 25" ASTM AS572 Gr. 50
2 10 RAW, 95/8" REBAR @ 36’ A61S, Gr. 60
3 2 5 X 5" X 5/16" TUBE W/ SLOTS e 18’ ASTM AS00 Gr. B
4 2 SHIM PL 1/2”7 X 4° X 17° W/ SLOTS ASTM A709 Gr. 36
B 2 SHIM PL 1/2" X 4° X 17* (W/0 SLOTS) ASTM A709 Gr. 36

PROTRUSIONS CAUSED BY WELDING OR
GALVANIZING ARE NOT PERMITTED ON THE
SPLICE TUBES AND FILL PLATES

TYP,
WPS 3016

217

Vermont Agency of Transportation

RECEIVED

ON: December 29, 2014
and Checked for

CON FORMANCE

TAS DATE: 01/20/2015

X

I / —ﬂ— N\ EX(REF)
—+ + T T Y S B R e
yT e
1. T
o, 3 —l—— + + _‘-I 4 \ | WPS 3037 T e e ) e e ey P, T S
1-05 [ e sne e
21" I __!_— —I 1'-02" T e Y T T
REF. 5
| FoR
: |
) 1" o
* + |
1” GALV. HOLE T
eX (REF)
10" CITEM # 33>
T.Y. LIN INTERNATIONAL
THE STAMPED DOCUMENTS ARE HEREBY:
| SHEET 3 OF 3

APPROVED

APPROVED AS NOTED

REVISE AND RESUBMIT
SEE TRANSMITTAL FOR ADDITIONAL INFORMATION AS APPLICABLE.

THIS REVIEW IS FOR GENERAL CONFORMANCE WITH DESIGN
CONCEPT ONLY. ANY DEVIATION FROM THE PLANS OR
SPECIFICATIONS NOT CLEARLY NOTED BY THE CONTRACTOR HAS
NOT BEEN REVIEWED. REVIEW BY THE ENGINEER SHALL NOT RELIEVE
THE CONTRACTOR OF THE CONTRACTUAL RESPONSIBILITY FOR ANY
ERRORS OR DEVIATION FROM THE CONTRACT REQUIREMENTS.

RICK HEBERT 1/16/2015

ITEM #:525.45

x 47

SLOT, TOP
& BOTTOM

2'

T, by Ty Y by

/47°x45° —”_ 2TYP.

ERsNsges=ess

"LEFT / TRAILING”

1t_0§n

#5 REBAR <1000

STRUCTURAL STEEL TO
COMPLY W/ ASTM A6

BRIDGE RAIL DETAILS SHEET

VT 121 (CL 2, TH 1) RURAL MAJOR COLLECTOR, BRIDGE 11R

ROCKINGHAM, PROJECT BRF 0126(12), TOWN OF ROCKINGHAM, WINDHAM COUNTY, VT.

REVIEWER DATE

TOLERANCE UNLESS R[NO. | DATE| DESCRIPTION BY| R[NO.[ DATE | DESCRIPTION _|BY
OTHERWISE NOTED: E
FRACTIONS = + 1/16” ;m&__ v
ANGLES = + 1/2° 45@) DRAWN [ EP. 13:3:::
DIAMETERS = + 1/32” ELDERLEE,INC. {82 oL

0/ 0AKS CORNERS, NEW YORK 145 7 : -

E-Mail: dlongOelderlee.com / epeck@slderice.com SCALE | SCHEMATIC

Tel:315-789-6670 Fgx:315-789-6615 DRAWING NO.FA L - ROCKINGHAM




34' PAY LIMIT

HSS 6"x6"x3/16" Kickback

COATED BLACK PER ASTM D/803 @ 9-0" w/End Cap

%._____ — El ﬁ l:El [:El I I 5 I 4 5 & e I

I I

POST 1 POST 2 POST 3 POST 4 POST 5 POST 6 POST 7 POST 8 POST 9 POST 10 POST 11 POST 12 POST 13 POST 14

HSS 6"x6"x3/16" Rail

| | |
__ 5%, % % ®

'@ @

i-—l——l—l—_ }—en—:—-I. 5\ \
12—
(16
SEE ADDITIONAL SHEETS FOR DETAILED VIEWS .7

GUARD RAIL TO BRIDGE RAIL TRANSITION
WW2 & WW3 SHOWN (APPROACH)

o ﬁ T4 [gTRAII_IlNG-ISIMILAR)I I o
Am— == BB

‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘ ITEM #:621.72 SHEET 1 OF 5
RECEIVED STRUCTURAL STEEL TO GRAS, GLV 2 RA]L BO)( BEAM

. COMPLY W/ ASTM A6 EM14-192, VT 121 (CL 2, TH 1) RURAL MAJOR COLLECTOR, BRIDGE NO: 11R
ON: December 29, 2014

e e b e @ 17'11-1/2"
e e e e e e npN
k3 k% ; 3 ) A
: y 4 ¥ ,
i
1'-6%" 1Bt 1512 .53 5 1 \ Z{
16 - £ Lip2n 1
| 16 lﬁ Lt [ﬁ|1 13 ﬁh'mg ﬁ B NS
253" l
+ L
b PRl I3 i3 | j‘;'
: .---‘-““‘l—-—_
B— b ﬁ_ E_ r% W} {
I o
HE S i I 1k r r by ri, - I == j L -
i “I 'r-‘ I": T 1 57 1 o " H " I 1 -1‘1' r I Ir= :": ]
I_’. i | ! | i i 'r | |__| | i | IR 1 |
T . H = 1 ‘3-—| | I L Ity Iop L dad i L Joa_us
i O S3X5.7 POST @ 63" W/ SPADE
4 SPACES @ 20"=8 @ 3-0" SPACING = 150"
‘ l——SSxS,? POST @ 7'- 0" W/ SPADE

W6x9 POST @ 7'- 0" W/ SPADE
@ 2'-0" SPACING (3X) = 60" :

PROJECT: ROCKINGHAM BRF 0126(12), TOWN OF ROCKINGHAM, WINDHAM COUNTY, VT
.| DATE DESCRIPTION BYl

R[NO. | DATE | DESCRIPTION
TOLERANCE UNLESS
and Checked for OTHERWISE NOTED: -
CONFORMANCE |z 7.0
ANGLES = = 1/2 . ; ELDERLEE,INC. ) CHECKED | D.L. .
TAS DATE: 01/20/2015 DIAMETERS = + 1/32" |\\Q&W 04KS CORNERS, NEW YORK 14578 APPROVED | M.V.
E-Mail: dlong@elderlee.com / epeek@elderlee.com SCALE SCHEMAT'C
Tel:315-783-6670 Fax:

315-789-6618 DRAWING NO.FR L - ROCKINGHAM-T




PLAN VIEW HOLE POSITION CHART HOLE POSITION CHART
PLAN VIEW PLAN VIEW ) [ PosT | rewom | PLAN VIEW FOST LENGTH
Ei'_I_ 4 '___ZI—‘ -6 Ta7ie” | g 5 =11 5/8°
I_E’_ ( I TE M # 3) -md'xa'xa»v SPADE ll._'.' éﬂl&. r— F:|—4" ? ":III: g%"
E Ui x 8" x 24" SPADE CITEM # 1D | e ol s o TE,,.W o34 VPSPIDE — e
5 1/4" X 8" X 24" SPADE 1?] 11-3 '.;/}lf‘
5 8 . jE G- . P " & g i o
| 1%"| I~ e 5 L AT v &1 2 !
= o 7|4 T =
k-_r 2 _I 1%_‘ I_ 1 i H I 4 (G 13 116" HOLE | 1{_1.'
| N2 13/16* HoLe '3 s I (PO GALY) g [ § o
|| Foreaw }:—r osrersomie [l I __! (FOR GALV)
5 5/8" HOLES | ! [\o 13 /16" HOLE ih VARIES, 5/8" HOLES |
TYP. ! 16 | (FOR GALVY) | ] {PER CHART) {4) REQ'D
| 4 H 1 TO BE FIELD DRILLED i
) @ 5/8° SLOTS R o
a5 | \saxs:f (2x) I L :h\_, 4 A .
1 I - - Nose |
i | | I /4 23/8 (4 REQD) : H
| T e WPS 3022
1 il | ASTM AS72 Gr. 50 /\N’EXQIBEAM EE T
| ! !\ e ! WPS 3022 ! \SSXS'?
i | | WPS 3022 | ! B VL |
" i ' i ity o
1 l mWPS soe:j | | 14" Da-n i \S N | l WPS 20322
\ | 24" 3x3.7 \ :
B3°+1/8" 1 g ! WPS 3022
I | I | N gada1/8 |
WPS 3022 i i i : u f20 \ WPS 3022 i
A i | Vi 5 |
2 |7 210 !
14" |/ 211 : =i i 4 d |
| 418" M l T [ a sty |
i . WPS 3022 ‘:Ps a:zz |
4 ! FRONT SIDE i
B I CITEM # 4 / i
L Ul a1/ 2 318" GENERAL NOTES: 8] i
FRONT SIDE sz |
- 1) ALL RAILING IS TO BE FABRICATED AND ERECTED ACCORDING TO SECTION 525 OF FRONT SIDE |
THE STANDARD SPECIFICATIONS. 167%1/8° H
HOLE POSITION CHART 2) BOLTS SHALL BE TORQUED SNUG TIGHT (APPROXIMATELY 100 FT-LB). CITEM # 3
PLAN VIEW
- FOsT LENGTH 3) PROTRUSIONS CAUSED BY WELDING OR GALVANIZING ARE NOT PERMITTED ON THE !
= > 75 77 ADJOINING SURFACES OF THE BOX BEAM RAILS, SPLICE TUBES AND FILL PLATES. ] | T
I'-8 3/4"
X Cexoxarsmoe 2 s 4) BOX BEAM TUBE AND STEEL POST MATERIALS, DIMENSION SIZES AND NOTES SHALL st e WP 3022
BE THE SAME AS THOSE OF THE BRIDGE RAIL, UNLESS OTHERWISE NOTED. — —
5 CITEM # 25 5) ANY BENDING OF RAIL SHALL BE DONE AT THE FABRICATION PLANT. RADII GREATER
g'—lH 1 AE THAN 16' TO BE CURVED ON A TUBE BENDING MACHINE, RADIH LESS THAN 16' TO BE "PIE Vermont Agency of Transportation
— —[1& CUT" AND WELDED. CURVED RAILING WILL HAVE AN 18" LENGTH ON EACH END rmmm——
|| [ STRAIGHT TO ACCOMADATE SPLICES. R E C E |V E D
T | e tsne: vove 6) ALL STEEL COMPONENTS SHALL BE COATED BLACK IN ACCORDANCE WITH ASTM
VARES. --I D7803 FOLLOWING GALVANIZING. ON: December 29’ 2014
(FER CHART} ]
L | and Checked for
35" | \53"5'? BILL OF MATERIALS, EACH CORNER CO N FO RMAN C E
S "i Bl R S ol DESCRIPTION MATERIAL CASTM) TAS DATE: 01/20/2015
| Tve. . 1 3 | 0013.57021 [3° 1-POST, PUNCH 8° W/SPD @ 63° LG ASTM AS72 Gr. 50
2 | 3 | 001357025 [3° I-POST W/SPD @ 63°, PUNCH 8, & 20° & HOLES @ VARIOUS ASTM A572 Gr. 50
! ! 3 [ 2 [o013.57060 [3” T-END POST W/3PD @ 387 LG ASTM A572 Gr. S0 T HARDWARE SliES
| | 4 7 o W6X9 POST @ 7' W/SPD & 5/8° HOLES €@ VARIOUS ASTM AS572 Gr. 50 O RAIL 0 SHEF A eI CUNCTA
i N VARG 5 | 4 = 3’ 1-POST, PUNCH & & VARIOUS’, W/8X32° SPADE @ 7° ASTM AS72 Gr. 50 SO SIELF ANGLE. GTEN T TE-POST
b il 10 | 19 | 005400050 [REG BB SHELF ANGLES € 4-1/2- ASTM A36 23 _|SPLICE TUBING CITEM #'S 7 & 12), & (4) PER PARAPET WALL CONNECTION
| I 12 1 - HSS SX5 DBL BEND TUBE SPL @ 27° LG AS00 Gr. B / AS72 Gr 50 24 |BOLT RAIL CITEMS #'S 17, & 18 TO BLOCK-OUTS CITEM & 13)
! WPS 3092 , 13 | © | 005400563 [6X8° TRANS. TUBE B/0 € &' LG AS00 Gr. B
N | 5 [sma e T e 5 g v o7 i var P ROE SHEET 2 05
i} - ! 1_| 0054.18000 |6XE” = x ? . E
2 If LRz | 7 [ 1 — [6Xe’ BB TOP TRANS @ 24'-9 3/4° LG W/EXP END A500 Gr. B sructuraL steec 1o | GRAS, GLV 2 RAIL BOX BEAM
HH : 18 1 - 6X6° BB BTM TRANS @ 25'-5 1/2" LG W/EXP END AS00 Gr. B COMPLY W/ ASTM A6 EM14-192, VT 121 (CL 2, TH 1) RURAL MAJOR COLLECTOR, BRIDGE NO : 11R
H | 19 18 [ 0080,03355 |[63/8° X 7 1/2° BOLT, NUT, & 2 FW A307 PROJECT: ROCKINGHAM BRF 0126(12), TOWN OF ROCKINGHAM, WINDHAM COUNTY, VT
it/ , 20 | 19 | 0080.04100 |#1/2" x 1-1/2° BOLT, NUT, & FW A307 T [T R[NO. | DATE | DESCRIPTION BY| R [NO.| DATE | __DESCRIPTION __[BY|
| I | 21 | 16 | 008004120 |1/2° x 1-172" BOLT, NUT, 2 FW & LW A307 OTHERWISE. NOTED: E £
o Wb : 23 | 10 | 0080.06340 [#3/4° X 7-1/2° BOLT, NUT, 2 FW A325, AS63, F436 TR el I v
U | _J_W 24 | 8 | 008006370 [$3/4° X 8" CARR BOLT, NUT, FW & LW A307 FRACTIONS = % 1/16 A=l DRAWN | EP. | 1224/14
Moo 25 | 1 #3/4° THREADED ROD @ 14, NUT & FW (S, CORNER TURNBACK) A449, AS63, F436 ANGLES =  1/20 ELDERLEE,INC. [NWYZzsacuor] cHecke | oL | -
FRONT SIDE DIAMETERS = & 1/32 \ OAKS CORNERS, NEW YORK 14518 APPROVED | M.V,
E-Mail: dlong®@elderlee.com / epeek@elderlee.com SCALE SCHEMAT'C
Tel:315-789-6670 Foz:315-—783-6615 DRAWING NO.Fii L - ROCKINGHAM-T




BACK VIEW

O
M L

il

T
A

' __L ANGLE ‘B", PER DOUBLE BEND SPLICE
(AS DETERMINED BY GROUND SLOPE DROP>

6" X 6” X 3/16° \JELDED/
END CAP, W/CUT CORNERS

T0P VIEW

9

g

3

o
o

' \s 7/8

(TOP & BOTTOM

MITER CUT TO MAINTAIN
4’-0* SET BACK FROM FACE

——

OF RAIL @ OPPOSITE END

TOP VIEW

¥ D

2

.

3k

43
FRONT VIEW

CITEM #

|—7i16" X 3" 5LOT

FASTEN SHELF ANGLE TO
POST W/ 1> 1/2° BOLT
IN EITHER #5/8” HOLE

~g 5/8” (2X)

3-1/2" X 5" X 3/8" ANGLE

PLAN VIEW

CITEM & 1O

(TOP & BOTTOMD

® 5/8" HANGIN
HOLE FOR GALV

15) (TOP & BOTTOM

u

HSS 5" x 5" x5/16"@ 2 3" ,4-/
Galvanized Tube WPS 3009

4" x 1/4" x 26" Fill Plate
(Front & Back)

- -

WPS 3009

4" x 1/4" x 26" Fill Plate
Bottom)

ELEVATION
FIXED SPLICE TUBE

#1°%7* HOR. SLOT

CITEM # 120 T TOP+BOTTOM
SHIM PLATES

4-REQ. (2w/SLOT

WPS#3016
N

®l"x7" HOR. SLOT
TOP+BOTTOM

DOUBLE BEND TUBE SPLICE
DESCRIPTION

"X 8716 TUEL € 86 3/4°
72 W7

—_ 3718’ R 1 % 3 570 BACKER PLATE, FOORED |
E — WIE AU R A BACRER PLATE |

“B* - TURN DOWN ANGLE SET BY THE 9° MEASURMENT
AT THE END OF THE BOX BEAM.

Vermont Agency of Transportation

RECEIVED

ON: December 29, 2014
and Checked for

CON FORMANCE

TAS DATE: 01/20/2015

Welding Detall
WPS 3007

ITEM #: 621.72

CITEM & 7 i __%.

Centerline of @ 7/8"
in Top & Bottom of
HSS 6"x6"x3/16" Tube (Typ.)

(4) 3/4" Fully Threaded Bolts, 7 1/2" Long
(ASTM A325, TYPE 1) 2 Washers and a

Heavy Hex Nut on each Bolt. Nut to be Finger
Tight and the First Thread below the nut to be

damaged A.Q.B.E.. 4 Bolts at Each Splice.

ELEVATION
FIXED TUBE SPLICE ASSY.
— '
—_3'_—
3
4 3,
3 .
|
I I
g l i & | =
. | ==
43 I |
1 “R\.
1 n
77 BAaCK VIEW 0 o/8

(POST SIDE> (2X)

|_3‘!—_

0N

CITEM # 13D

FRONT VIEW
(RAIL SIDED

SHEET 3 0OF 5

STRUCTURAL STEEL TO
COMPLY W/ ASTM A6

TOLERANCE UNLESS
OTHERWISE NOTED:

FRACTIONS =
ANGLES = %
DIAMETERS =

{2

GRAS, GLV 2 RAIL B0OX

BEAM

EM14-192, VT 121 (CL 2, TH 1) RURAL MAJOR COLLECTOR, BRIDGE NO: 11R

PROJECT: ROCKINGHAM BRF 0126(12), TOWN OF ROCKINGHAM, WINDHAM COUNTY, VT

+ 1/16”

+ 1/32"

E—Mail: dlong@elderlee.com / epeek@e!derlee com
Tel 31587896620 For:315-789-6618

R[NO. [ DATE | DESCRIPTION BY[ R[NO.[ DATE | DESCRIPTION _|BY
E E
v v
S reo DRAWN | EP. T2/24114
2 ELDERLEFE,INC. FABRICATOR|[ CHECKED | D.L. j
0AKS CORNERS, NEW YORK 145 APPROVED | M.V.
SCALE | SCHENATIC

DRAWING NO.FR L - ROCKINGHAM-T




" 1»
17113

Vermont Agency of Transportation

RECEIVED

ON: December 29, 2014
and Checked for

CONFORMANCE

TAS DATE: 01/20/2015

SHEET 4 OF 5

[ ﬁu
14—114
g-113
1 3!1
5-113 1 ok L
211 3/4" —— 2
- 10fr TOP VIEW 10
Pk |
2 1 I | 3 |
T, T — — — ¥ —p—p——7 &
I
\u—us' HOLE / #1-1/8" HOLE /
TOP+BOTTOM HSS 6x6x3/16 TOP+BOTTOM
2 RERQ'D DRILL ¢1/2" HOLES 2 REQ'D
TOP+BOTTOM
" 4 REQ'D
Rixe CITEM # 16
| 5 ; 7 ; :
== ] == == + e e e = = =
6!' T RS TR — e
T | . - v = = == == :
I THIS LENGTH PAY ITEM 621.72 THIS LENGTH PAY ITEM 621.30 1
97/8° HOLE
TOP+BOTTOM
1/2° HOLES 2 REQ'D
— ) - TOP VIEW  TOP+BOTTOM CTYP)
7/8" HOLES 6 REU'D\ .
o | |- TOP_,& BOTTOM) re
B : 1 : : : : '
9-10" ! L=
11-10°
13-10"
15-10"
18-10" 1
21-10"
2498
¢ 7/8° HOLES
FRONT+BACK (TYP.)
4 REQ'D SIDE VIEW HSS 6x6%3/16" ol 1—
T 2
} e \ —I ~ |4
. [ ]
6| B |
— 110" —|
3-10" CITEM # 17)
5-10"
7-10"
MITER CUT FOR
1/2* HOLES b
— & TOP VIEW TOP+BOTTOM ¢TYP) HSS 6x6x3/16 ALl
1 7/8" HOLES e 6 REQ'D DRILL ¢7/8° HOLE SETBACK FROM FACE
%2 |~ yfaoe « BorTom TDP*”””"“\ OF RAIL
| A 1 1 1 L 1 1 N
oy T T 1 T T ¥ |
g ] ; | |
3 g1 T 1 FACE OF FIAIL/ 4
13-107
15-10"
18-10"
21-10"
2553 {
ITEM #: 621.72
STRUCTURAL STEEL TO
@ 7/8" HOLES
. FRONT+BACK (TYP.) COMPLY W/ ASTM A6
| @ 4 REQ'D
& T ] TOLERANCE UNLESS
| = OTHERWISE NOTED:
e SIDE VIEW FRACTIONS = + 1/16"
e CITEM # 18 ANGLES = + 1/2°
- 7-10° DIAMETERS = + 1/32"

GRAS, GLV 2 RAIL BOX

EM14-192, VT 121 (CL 2, TH 1) RURAL MAJOR COLLECTOR, BRIDGE NO : 11R
PROJECT: ROCKINGHAM BRF 0126(12), TOWN OF ROCKINGHAM, WINDHAM COUNTY, VT

BEAM

<m3a

NO.

DATE

DESCRIPTION BY| R

NO.| DATE DESCRIPTION BY

. 0AKS CORNERS, NEW YORK 1451 g
—Hm!. dim@eideﬂee com / epeek@elderlee.com

E.P. 12/24/14
D.L

DRAWN
CHECKED
APPROVED | M.V.
SCALE SCHEMATIC
DRAWING MNO.FR L - ROCKINGHAM-T

ELDERLEE,INC. ( B

. 315-789-GRIS




an]
NOTE: S.E. CORNER, BOTTOM RAIL ‘i“’ I
FTURNBACK (ITEM ®#19> - SUPPLIED @ I ! |
STD 9-0" LENGTH W/ WELDED END | |
CAFP, CUT & DRILL SPLICE END T0O | |
MATCH FIELD REQUIREMENTS. I |
| | 2
I I CUT TO MATCH
)ﬁ L il | | FIELD CONDITIONS i
@ 5/8"1 | /—S3x5.7 |
i U | VU |
2 I | FieLo bR I
I (e | | AsReao [
_ I 147 |
- 078" |4 [
" AN | | th %
{ b f [T T |l%]| )
—] o1 ~— 1n 174" - 3n
4 =]
- 4 ||
#3/4" THREADED ROD @ 14'—"|
SPECIAL POST DETAIL AEX NUT & FLAT VASHER
FOR WW3 (S.E. CORNERD !
BOTTOM RAIL TURNBACK i
Vermont Agency of Transportation TEM :621.72 SHEET 5 OF 5
RECEIVED swuewra, set 10 | GRAS, GLV 2 RAIL BOX BEAM

ON: December 29, 2014
and Checked for

CON FORMANCE

TAS

DATE: 01/20/2015

COMPLY W/ ASTM A6

TOLERANCE UNLESS

OTHERWISE NOTED:

FRACTIONS = * 1/16” ==
ANGLES = % 1/2° )
DIAMETERS = + 1/32” |N&W

EM14-192, VT 121 (CL 2, TH 1) RURAL MAJOR COLLECTOR, BRIDGE NO : 11R
PROJECT: ROCKINGHAM BRF 0128(12), TOWN OF ROCKINGHAM, WINDHAM COUNTY, VT

. | DATE DESCRIPTION BY| R |NO.

DATE

DESCRIPTION BY

E

v
FLDERLEE,INC. (1)

DRAWN

CHECKED

=858 12/24/14
D.L "

APPROVED

M.V.

E-Mail: dlong®elderlee.com / epe ok@lderige. com
Tel:315-789-6670 Foz:315-789-6618

SCALE

SCHE MJ\TIC

DRAWING N

0.FA L - ROCKINGHAM-T




WELDING PROCEDURE SPECIFICATION

PQR ELDERLEE#3

Material Specification A500 GR B to A572 GR 50

Welding Process FCAW-G

Manual or Machine SEMAUTOMATIC

Position of Welding FLAT/HORIZONTAL

Filler Metal Specification A5.29

Filler Metal CIaSS|flcatlon E81T1-Ni1C-JH4

Flux N/A

Shielding Gas CcO2 Dew Point -40DEG F Flow Rate 50CFH
Single or Multiple Pass SINGLE

Single or Multiple Arc SINGLE

Welding Current DC

Polarity REVERSE ELECTRODE POSITIVE
Welding Progression STRINGER

Root Treatment PER D1.5

Preheat and Interpass Temperature PER D1.5

Postheat Temperature NONE

Heat Input Min Max

'+ WELDING PROCEDURE
Pass Electrode Welding Cumell Travel Joint detail
no. size Amperes Volts speed
1 116 310 25 11
Variable LIMITS 3441 27 12 Tk = 37ier=378"

T TO TO
269 23 10

This procedure may vary due to fabrication sequence, fit-up, pass size, etc., within the limitation of
variables given in Section 5.

Procedure No. 3007 Contractor Elderlee, Inc.

Authorized By RANDY SCOTT
7/28/2014

Revision No,

Vermont Agency of Transportation

RECEIVED

ON: December 29, 2014
and Checked for

CON FORMANCE

TAS DATE: 01/20/2015

Date




WELDING PROCEDURE SPECIFICATION
PQR ELDERLEE #3

Material Specification A709 TO A500 GR B
Welding Process FCAW-G

Manual or Machine SEMAUTONMATIC
Position of Welding FLAT/HORIZONTAL

Filler Metal Specification Ab.29

Filler Metal Classification E81T1-Ni1C-JH4

Flux N/A
Shielding Gas CcO2 Dew Point -40DEG F Flow Rate 50CFH
Single or Multiple Pass SINGLE
Single or Multiple Arc SINGLE
Welding Current DC
Polarity REVERSE ELECTRODE POSITIVE
Welding Progression STRINGER
Root Treatment D1.5
Preheat and Interpass Temperature D1.5
Postheat Temperature NONE
Heat Input Min Max
+ WELDING PROCEDURE.
Pass Electroge | 'velding curent | 4 el Joint detail
no. size Amperes Volts speed
1 1/16 310 25 11
Variable LIMITS 341 27 12
TO TO TO
269 23 10 /
V2RV

This procedure may vary due to fabrication sequence, fit-up, pass size, etc., within the limitation of
variables given in Section 5.

Procedure No. 3009 Contractor Elderlee, Inc.
Revision No. Authorized By RANDY SCOTT
Vermont Agency of Transportation Date 3/20/2014

RECEIVED

ON: December 29, 2014
and Checked for

CON FORMANCE

TAS DATE: 01/20/2015



WELDING PROCEDURE SPECIFICATION

PQR ELDERLEE #3

Material Specification AB00 TO A572 GR 50

Welding Process FCAW-G
Manual or Machine SEMAUTOMATIC
Position of Welding FLAT/HORIZONTAL
Filler Metal Specification AB.29
Filler Metal Classification E81T1-Ni1C-JH4
Flux N/A
Shielding Gas CO 2 Dew Point -40DEG F Flow Rate 50CFH
Single or Multiple Pass SINGLE
Single or Multiple Arc SINGLE
Welding Current DC
Polarity REVERSE
Welding Progression STRINGER
Root Treatment PER D1.5
Preheat and Interpass Temperature PER D1.5
Postheat Temperature NONE
Heat Input Min Max
+ WELDING PROCEDURE .
Pass Electrode Welaing Cument Travel Joint detail
no. size Amperes Volts speed
1 118 310 25 11
Variable LIMITS 341 27 12
TO TO TO
269 23 10

&

\/4~3/8" l/

This procedure may vary due to fabrication sequence, fit-up, pass size, etc., within the limitation of
variables given in Section 5.

Procedure No. 3016 Elderlee, Inc.

Authorized By RANDY SCOTT
Date

Contractor

Revision No.
Vermont Agency of Transportafion

RECEIVED

ON: December 29, 2014
and Checked for

CON FORMANCE

TAS DATE: 01/20/2015

8/4/2014




WELDING PROCEDURE SPECIFICATION

Material Specification AB72 GR 50

Welding Process GMAW

Manual or Machine SEMIAUTOMATIC/ROBQTIC

Position of Welding FLAT/HORIZONTAL

Filler Metal Specification A5.18

Filler Metal Classification L-56 LINCOLN

Flux N/A

Shielding Gas 90% ARGON /10% CO2 Dew Point -40DEG F Flow Rate 45CFH
Single or Multiple Pass SINGLE

Single or Multiple Arc SINGLE

Welding Current DC

Polarity REVERSE

Welding Progression STRINGER

Root Treatment PER D1.5

Preheat and Interpass Temperature PER D1.5

Postheat Temperature NONE

Heat Input Min Max

' WELDING PROCEDURE .

Welding Current

 Pass Electrode Travel Joint detail
no. size Amperes Volts speed
045 190 22 19
Variable LIMITS 171 20 17
TO TO TO |--—-a" =
209 24 21 T e
\

3 WELDD Eﬂ. lIIE
vz @ EDUM. SPAC

F.M—_-ﬁ:{_z.w-

This procedure may vary due to fabrication sequence, fit-up, pass size, etc., within the limitation of
variables given in Section 5.

Procedure No. 3022 Contractor Elderlee, Inc.
Revision No. Authorized By RANDY SCOTT
Vermont Agency of Transportation Date 3/20/2014

RECEIVED

ON: December 29, 2014
and Checked for

CON FORMANCE

TAS DATE: 01/20/2015



WELDING PROCEDURE SPECIFICATION
PQR ELDERLEE #3

Material Specification AB72 TO A572
Welding Process FCAW-G
Manual or Machine SEMAUTOMATIC
Position of Welding FLAT/HORIZONTAL
Filler Metal Specification Ab.29
Filler Metal Classification E81T1-Ni1C-JH4
Flux N/A
Shielding Gas CO2 Dew Point -40DEG F Flow Rate 50CFH
Single or Multiple Pass SINGLE
Single or Multiple Arc SINGLE
Welding Current DC ELECTRODE POSITIVE
Polarity REVERSE
Welding Progression STRINGER
Root Treatment PER D1.5
Preheat and Interpass Temperature PER D1.5
Postheat Temperature NONE
Heat Input Min Max
+ WELDING PROCEDURE .
Pass | Electrode | 'veldnglurent | rovel Joint detail
no. size Amperes Volts speed
1 1/16 310 25 11
Variable LIMITS 341 27 12
TO TO TO
269 23 10

s/16717 T\

ITEM 568
FEETT

TO BASE PLATE

This procedure may vary due to fabrication sequence, fit-up, pass size, etc., within the limitation of

variables given in Section 5.

Procedure No.

Revision No,

3002

Vermont Agency of Transportation

RECEIVED

ON: December 29, 2014
and Checked for

CON FORMANCE

BY

TAS

DATE: 01/20/2015

Contractor

Elderlee, Inc.

Authorized By

RANDY SCOTT

Date 3/20/2014




WELDING PROCEDURE SPECIFICATION

Material Specification A36 TO A500
Welding Process FCAW
Manual or Machine SEMAUTOMATIC
Position of Welding FLAT / HORIZONTAL
Filler Metal Specification A5.20 - 95
Filler Metal Classification E81T1-Ni1C-JH4
Flux N/A
Shielding Gas CO2 Dew Point -40DEG F Flow Rate 50CFH
Single or Multiple Pass SINGLE
Single or Multiple Arc SINGLE
Welding Current DC
Polarity REVERSE ELECTRODE POSITIVE
Welding Progression STRINGER
Root Treatment PER D1.5
Preheat and Interpass Temperature PER D1.5
Postheat Temperature NONE
Heat Input Min Max
1 WELDING PROCEDURE .
Pass Electrode Velding Gurrent Travel Joint detail
no. size Amperes Volts speed
1 116 300 26 14
Variable LIMITS 270 24 12.6
TO TO TO
330 28 15.4

7
1/8~1/4 |/ \

This procedure may vary due to fabrication sequence, fit-up, pass size, etc., within the limitation of

variables given in Section 5.

Procedure No.

3006

Revision No.

Vermont Agency of Transportation

Form Ill-2 RECEIVED

ON: December 29, 2014
and Checked for

CON FORMANCE

TAS

DATE: 01/20/2015

Contractor  Elderlee, Inc.

Authorized By

RANDY SCOTT

Date

8/4/2014




WELDING PROCEDURE SPECIFICATION

PQR ELDERLEE #3
Material Specification ASTM-AB00-A53-GRADE B TO A36
Welding Process FCAW-G
Manual or Machine SEMAUTOMATIC
Position of Welding 1G

Filler Metal Specification Ab5,29

Filler Metal Classification EB1T1-Ni1C-JH4

Flux N/A

Shielding Gas CO2 Dew Point -40DEGF FLOW RATE 50 CFH
Single or Multiple Pass SINGLE

Single or Multiple Arc SINGLE

Welding Current DC

Polarity REVERSE ELECTRODE POSITIVE

Welding Progression STRINGER

Root Treatment PERD1.5

Preheat and Interpass Temperature PER. D1.5

Postheat Temperature NONE

Heat Input Min Max

WELDING PROCEDURE

Welding Current

Pass Elecirode Travel Joint detail
no. size Amperes Volts speed
1 1116 310 25 11
Variable LIMITS 341 27 12
TO TO TO
269 23 10

This procedure may vary due to fabrication sequence, fit-up, pass size, etc., within the limitation of
variables given in Section 5.

Procedure No. 3012 Contractor Elderlee, Inc.
Revision No. Authorized By RANDY SCOTT
Date 3/20/2014

nnnnnnnnnnnnnnnnnnnnnnnnnnnnnn

RECEIVED

ON: December 29, 2014
and Checked for

CON FORMANCE

TAS DATE: 01/20/2015



WELDING PROCEDURE SPECIFICATION
PQR ELDERLEE #3

Material Specification A500 TO A572 GR 50
Welding Process FCAW-G
Manual or Machine SEMAUTOMATIC
Position of Welding FLAT/HORIZONTAL
Filler Metal Specification A5.29
Filler Metal Classification E81T1-Ni1C-JH4
Flux N/A
Shielding Gas CO2 Dew Point -40DEG F Flow Rate 50CFH
Single or Multiple Pass SINGLE
Single or Multiple Arc SINGLE
Welding Current DC
Polarity REVERSE
Welding Progression STRINGER
Root Treatment PER D1.5
Preheat and Interpass Temperature PER D1.5
Postheat Temperature NONE
Heat Input Min Max
' WELDING PROCEDURE ,
Pass Electrode | vedingCurrent o el Joint detail
no. size Amperes Volis speed
1 1/18 310 25 11
Variable LIMITS 341 27 12
TO TO TO
269 23 10

7
1/4~3/8" |/ \

This procedure may vary due to fabrication sequence, fit-up, pass size, etc., within the limitation of
variables given in Section 5.

Procedure No. 3016 Contractor Elderlee, Inc.
Revision No. Authorized By RANDY SCOTT
Date 8/4/2014

RECEIVED

ON: December 29, 2014
and Checked for

CONFORMANCE

TAS DATE: 01/20/2015



WELDING PROCEDURE SPECIFICATION
PQR ELDERLEE #3

Material Specification ASTM A572 GR. 50  TO A325
Welding Process FCAW-G
Manual or Machine SEMAUTOMATIC
Position of Welding FLAT/HORIZONTAL
Filler Metal Specification Ab5.29
Filler Metal Classification E81T1-Ni1C-JH4
Flux N/A
Shielding Gas CO2 Dew Point -40DEG F Flow Rate 50CFH
Single or Multiple Pass SINGLE
Single or Multiple Arc SINGLE
Welding Current DC
Polarity REVERSE ELECTRODE POSITIVE
Welding Progression STRINGER
Root Treatment CLEAN PER D1.5
Preheat and Interpass Temperature PER D1.5
Postheat Temperature - NONE
Heat Input Min Max
' WELDING PROCEDURE .
Pass Electiode | veiding Curent | el Joint detail
no. size Amperes Volts speed
1 1116 310 25 11
Variable LIMITS 341 27 12
TO TO TO
269 23 10

i
5/16°L7 ™\

This procedure may vary due to fabrication seguence, fit-up, pass size, etc., within the limitation of

variables given in Section 5.

Procedure No.

3019

Revision No.

Vermont Agency of Transportation

RECEIVED

ON: December 29, 2014
and Checked for

CON FORMANCE

DATE: 01/20/2015

TAS

Contractor  Elderlee, Inc.

Authorized By

RANDY SCOTT

Date

7/28/2014




WELDING PROCEDURE SPECIFICATION
PQR ELDERLEE #3

Material Specification ASTM A672 GR. 50 CVN TO A500 GR B .
Welding Process FCAW-G

Manual or Machine SEMAUTOMATIC

Position of Welding FLAT/HORIZONTAL

Filler Metal Specification A5.29

Filler Metal Classification E81T1-Ni1C-JH4

Flux N/A

Shielding Gas CO2 Dew Point -40DEG F Flow Rate 50CFH
Single or Multiple Pass SINGLE

Single or Multiple Arc SINGLE

Welding Current DC

Polarity REVERSE ELECTRODE POSITIVE

Welding Progression STRINGER

Root Treatment PER D1.5

Preheat and Interpass Temperature PER D1.5

Postheat Temperature NONE

Heat Input Min Max

*

' WELDING PROCEDURE

Welding Current

Pass Electrode Travel Joint detail
no. size Amperes Volts speed
1 1/16 310 25 11
Variable LIMITS 341 27 12
TO TO TO
269 23 10

Vi
1/4~3/8" \

This procedure may vary due to fabrication sequence, fit-up, pass size, etc., within the limitation of

variables given in Section 5.

Procedure No. 3037

Revision No.

RECEIVED

ON: December 29, 2014
and Checked for

CON FORMANCE

TAS DATE: 01/20/2015

Contractor Elderlee, Inc.

Authorized By

RANDY SCOTT

Date

121112014




